/6 o ?TSE%.;\GN? ) E&mgd + r\&?s&&m\ \ \t,
{ @0«\.

4

Deles P&l = 2k~ Y av X-1 %
méc\vﬁ\m oy delhs av x~Xo 7 P(%), esten, er O
(1) p(2) = mw..b,»-r_ = 8-~4-4 =0O
se  (x~2) Aebow A9

3
Vi huwer F\c?% X+ ~dX -4 - X=A = Xn.ﬁ@ﬁ +2_




3 - 2
“ox =1 = (x=2) (x 25+ 2 ,
VA - — Muczmrﬂrﬁpu

mXi Yo+ th\p\@o&?u .

[ s ylikbekea X = A -4 S 0

@

Uy (#] T xrex-¢
_ ﬁ \wl\N B hXﬁC (x4 2% +m\v
Com 6 o= (RENXA) [ XAk
’ b 3-2= X X6 (x-2) Cxe2)
[ et x.?;v | _ xTekx) g
B xX+%
-3 Vﬂus?ums N Qﬁgﬁm?\xm\
<+t L — J
=X e
i@@wv x € <3 DU, 09
X AL = — ==X -




Qm@ ﬂQ.\( Y,\&E\ /\A\?%R\ av O

% + Vﬁ,mf .\F.\Pm 5
, Vors X +I% - w oho
@ ( &ilsvavesl w,wwrev
N —
X +Ax =8 =
)5 18 <) (x+193)(xel3) = (Re)(X-2)
- (Xt Tt =
¢ Vot %@\ &\,mr&ﬁi\lxov;.»n.:ﬁ AD\.\ Seq Aele av -
i&c mer &

w l n.l
cxd 7 onar q9fw) =0 (Y] -d*e =0, A7 H161=68
o=~ 10

%4 .w ||
x-p | far q2) =0 2P HAt e =0 .







pel = ﬁx+:mX+Nymx:wv < o

O
xt2 —0

X - L __g
P o

Se \%m&?\c cacg W«N \me\ <O &
x € <9, -2> U Alfwv

e, 0V m\\\\ T o ew \&mx\nﬂ o x =1
“ 2 2, o) 2.
XHA/TAQ 2 (A-x) T X T Yx +Y ?.ELNX\Q\
T — ..XN\TQ(A.mu%.THr,N.
= X —-bLx+Y4 =0 = y

-5



@

(X =) (x-t) =0
7 \&?&m&m < = Vit=2-~1 v
x=9. V=2 # =471
\ﬂ@v&&@s@.
[ s e x=L

Q\HT — QHT

- b el @ W=b
L é&: %m@@&.







)

A 2
g-xr = X = g-x =X & g=22x"
lvadreres  begge sidex

o X" @ x=12. Tester for falsle lsnpres

®

=~ " /\MHN\ tmn - L Tm&v\\ﬁ\&x@
= n .NY%\A -
[ gsuingen & X=X

I+ V' = QPLX.; _ﬁ,\% Fsmaﬁ S\ Lo

Yk~ @ VX = dx-d =X

~4X+P§M s

leedlventr

S YX IIA\WX lmvﬁ



3

Ux = gqx" -30x +25
Ox" -34Yx +R5 =0

Ser 6 x=( e~ €« N%mxmm“.
(x~0)(Ax —25) =C

Sl fo P

<= | VS = 2, Hs = O

3
25 ,TG... 5. =
1

?ei&%%f

P besge sidew



